o Fun all electrical before applying plex
graphic to face of light box - see page 4 for
complete wiring details

Assemble truss sections B1Z and AlZ
and lift to position - secure to lightboxes
with four 1" x 3/8" hex bolts per side

Install upper lightbox AV to truss using
four 1" x 3/&" hex head bolts

Attach chasing light unit to truss section
where shown (see page 4 for complete wiring

b details
’
$ Unbolt truss AS from header AG and add
b truss section A0 - thru bolt entire assembl,
i ]
." - Install monitor mount A2 to header using
i | four 1" x 1/4"/20 pan head bolts
b
¢ Attach eolumn assembly to header £
v ap rtach column assembly to header A
¢ FINISHES and cabinet AZ three 2" x 1/4720 carraig:
*"' MARKER PESCRIPTION bolte and reversed wing nuts (cabinet) an,
b ) A FORMICA LAMINATE two 2" x 1/14"120 pan head bolts (heade
- #2022 BRUSHED ALUM.
E FIONITE LAMINATE Attach capital AS to tube A7 using four
#SE101 BLALCK 11/2" /4720 pan head bolt:
C FIONITE LAMINATE
#SY214-5 PRIMARY YELLOW _
D FIONITE LAMINATE — Thru t?-‘a'!fj‘ﬁE:if:‘L!‘r-'f'uE’ to truss using fou
| #5S5RB31-S BERERY EED 2 x BI8" hex bolts and hex rut
[ E BLACK SEMI-GLOSS LATEX
T T F FERFEREATED ALUMINUM
L ERA l”? f LUMINU BoltD light box A4 to counter top using
t ' = i al® E?fEJ'FF ?TﬁEGER two 2" x 4720 carraige bolts and reverses
= : " o i 1te
. BIGALOW GOLD DUST 2- COOL ASH et e
' ; H FLOOEING AB
_J 1 : F‘: i FLOORING Bolt truss Uﬂit_ FHEVFS gfgﬂu}fiﬁabFTr;
0y s LONSEAL- MIRAGE EBONY TIDE #523 e BN
' ‘ HARDWARE . Belt counter top AS to cabinet using four
1 aTY. DESCRIFTION 2" x 4"/20 carraige bolts and reversed
20 2" X /4"[20 CARRAIGE BOLTS g wing nute
20 2" X 114120 PAN HEAD BOLTS
(L] ‘ 1 p—
L 1 HE x M,E O FAN HEAU BOLTS Locate cabinet AZ to kick and secure with
g E’. 1 X1/4 /20 FAN HEAD BOLTS four 2" x 1/4"f20 carraige bolts and
- 25 1" X 3/8" HEX BOLTS Winanute
2 10 2" X 3/8" HEX BOLTS 8
! WA 720 WINGNUT
E : ?g ff:.fg’jHEx EFUTUE 2 Start by Iarc;atimf: Iani ;:ﬂ&itiﬂm;g I:?alﬁ.r.
[ ! 10 /8" WASHERS ick ag per noorpian
| —
L LAMPING NOTE: Assemble both sides of booth before
& QTy. _ DESCRIFTION _ moving to upper truss sections - read
24 2&" /40w FLUQOE. TUBES instructions from bottom to top
2 FAE 1&/60w floods
& FAE 38/120w
2 T-3M100w HALOGENS

NOTE: CHASING LIGHTS WERE PURCHAGED 5 EXPLODED ASSEMBLY

AT CHILDERS TRAILEE SALES
AND CUSTOM WIRED AT ELC,
ELECTRONICS CORPERATION

Optima Batteries TYPE Assembly Documents INFORMATION kalter@kevinalter.com mobile: 480.773.0623 www.kevinalter.com




